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102/BMS 1 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 
 

kl;lk; I - [dtup 2021  

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 gupe;Jiuf;fg;gl;l tpilfs; 

 

 (nkhj;jk; 40 Gs;spfs;) 
          
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

1.1 murhq;fj;jpdhy; fopf;fg;gl;l njhif  ® 100 – 45% = 55% 
          fle;j %d;W khj fhy fl;lzg; gl;bay;   ® &gh.18>000 

    fopf;fg;gl;l njhif                   ® 18>000 x  55/100  

                                        =   &gh.9>900 
    tpil(2) - &gh.9>900 
 

           (03 Gs;spfs;) 
1.2  

   𝑃 =
𝑃1

𝑃0
× 100 

            𝑃 =
140

80
× 100 = 175% 

tpil(4) - &gh. 175%                                   (03 Gs;spfs;) 
 
 
1.3 

 

𝑟 =
[n ∑ xy −  ∑x . ∑ y]

√{[n ∑x2  − (∑ x)2] × [n ∑ y2  −   (∑ y)2]}
 

 

𝑟 =
10 X 130.64 –  25 X 50

√(10 X 65.68 −  252) (10 X 260.48 –  502)
 

 

                                                        =  +0. 977 

tpil  (1) – +0. 977 

           (03 Gs;spfs;) 
1.4 

,q;F ngWk;ghYk; Mfhu ngWkhdkhf miktJ 

Mfhu ngWkhdk; = 17 

tpil  (4) -17  

            (03 Gs;spfs;) 

gFjp - A 

 

 

 

 

 



 

 

102/BMS 2 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.5  S = xrn S = tl;b,  x = 75,000,  r = 12,  n = 2 

 tl;b  = 75,000 X 0.12 X 2 

 tl;b = Rs.18,000     

 

tp;il (3)–Rs.18,000/- (03 Gs;spfs;) 

 

1.6 x= 6,000, n = 5,       r = 0.05  

𝑃𝑉 =
𝑋(1 − (1 + 𝑟)−𝑛)

𝑟
 

 

 𝑃𝑉 =
6,000(1−1.05−5)

0.05
   

  

 𝑃𝑉 = 𝑅𝑠. 25,977Ω 25,980 

          

tp;il (4)–Rs.25,980/- (03 Gs;spfs;) 

 

1.7 𝑃(𝐴 ∪ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∩ 𝐵) 
𝑃(𝐴 ∪ 𝐵) = 0.38 + 0.22 − 0.06 

𝑃(𝐴 ∪ 𝐵) = 0.54 

 tpil (3) – 0.54                  (03 Gs;spfs;) 

1.8 𝑆 = 𝑋(1 + 𝑟/𝑁)𝑛×𝑁  x= 75,000 , n = 2  ,    r = 0.12  ,    𝑁 = 4 
 

 𝑆 = 75,000 × (1 + 0.12/4)2×4 

  

              S   =95,007.76 

 

  S   =Rs.95,008 

 

tpil (1) – Rs.95,008/- 
             (03 Gs;spfs;) 

1.9   

 

  

 

 

 

      tpil (1) – 7,084, 6,522, 8,624, 9,188 

  (03 Gs;spfs;) 

 

 

gUtfhyk; 
(fhyhz;L) 

gUtfhy 
Rl;b(S) 

Nghf;F 
ngWkhdk; 

(T) 

vjpu;T$wg;gl;l 
tpw;gidfs; (T×S) 

1st 0.93 7,617 7,084 

2nd 0.84 7,764 6,522 

3rd 1.09 7,912 8,624 

4th 1.14 8,060 9,188 



 

 

102/BMS 3 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.10 PV = 400,000,  n = 5,  r = 0.12 

𝑃𝑉 =
𝑋(1 − (1 + 𝑟)−𝑛)

𝑟
 

 

 400,000 =
𝑋(1−1.12−5)

0.12
 

   

 𝑋 = 400,000 ×
0.12

(1−1.12−5)
  

  

X = &gh.110>964 

tpil (3) = Rs.110,964                     (03 Gs;spfs;) 

1.11 

A 3 

 B 4 

 C 1 

 D 2 

           (03 Gs;spfs;) 

1.12 𝑆𝑘 =   
3(𝑋̅−𝑀𝑑)

𝑆
 

 

𝑆𝑘 =    
3(710 − 690)

√144
 

                      =     60/12 

                   =   5                    (02 Gs;spfs;) 

1.13 a  = 4,  d = 3, n = 10 

              Tn = a + (n-1)d  

                 = 4+(10-1) × 3  

                 = 4 + 9 × 3  

   = 31                                                                                                                                     (02 Gs;spfs;) 

1.14    $w;W  cz;ikahdJ                                                                                                       (01 Gs;spfs;)                                                                                                                                                                      

1.15       $w;W  ngha;ahdJ                                                                                                            (01 Gs;spfs;)   

(nkhj;jk;  40 Gs;spfs;) 

 

 

𝑆𝑘= Xuhaf; Fzfk; 

𝑋̅ = ,il 

Md = ,ilak; 

S   = khwy;jpwd; 

gFjp A KbT 



 

 

102/BMS 4 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  
 
 
 (a) 

3(4𝑥 +  2)  =  30 

12𝑥 +  6     =  30 

12𝑥               =  24 

    𝒙                =  𝟐     
(03 Gs;spfs;) 

(b) 

3𝑥 + 5𝑦  =  −7          1 

11𝑥 − 8𝑦 =  27           2 

1 x 8       24 𝑥 + 40y = -56       3 

2 x 5       55 𝑥 – 40y = 135      4 

        3   x   4        79 𝑥 = 79 

         𝒙 = 𝟏  

        𝒙 = 𝟏 , ,id gjpyPL nra;jy; 

        3 𝑥 +  5𝑦    =  −7 

        3 x 1 + 5 𝑦  =  −7 

        5 𝑦               =  −7 − 3 

 𝑦 =  −10/5                  𝒚 = −𝟐 

𝒙     =   𝟏    𝒚  =  −𝟐   

  (04 Gs;spfs;) 

(c)  𝑥 = 800,  r = 5%,  n = 4,  S=? 

𝑆 = 𝑥(1 + 𝑟)𝑛 

𝑆 = 800(1 + 0.05)3 

 =  800 x 1.053 

        = &gh.926.10 

  (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 

gFjp B 

 

 

 

 

 

mj;jpahak;  01 - fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 
 



 

 

102/BMS 5 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 
 

(a) 
TC = VC + FC  

TC = 2q2 - 12q+12,000   

 

nkhj;j tUkhd rhu;G  (TR) = Nfs;tpr; rhu;G  x myFfspd; vz;zpf;if 

𝑇𝑅 = 𝐷 × 𝑞     

𝑇𝑅 = (q + 8) × q 

𝑻𝑹 = 𝐪𝟐 + 𝟖𝐪   

(04 Gs;spfs;) 

(b)       ,yhgr; rhu;G = TR – TC 
                                       = q2+ 8q – (2q2 -12q-12q+12,000) 

                                        = q2 +8q -2q2 +12q – 12,000 

                                        = -q2 + 20q-12,000 

                            
𝑑𝑝

𝑑𝑥
  = -2q +20 = 0 

         2q   =20 

q = 10 
𝐷2p

D𝑋2  =-2< 0 

 q = 10  

gjpyPl;L tpil 

𝑇𝑅 = q2 + 8q  

MR = 2q + 8  

TC   = 12,000 +2q2 - 12q 

MC  = 4q - 12   

cr;rkl;l ,yhgk; MR = MC Mf ,Uf;Fk; NghJ> 

 2q + 8 = 4q - 12   

          X = 10 

        myFfspd; vz;zpf;if 10                                                                                      (03 Gs;spfs;) 

 (c) 
𝑇𝑅 = 2q2 + 4q              𝑇𝐶 = 2q2 + 2q + 200,000 

,yhg el;lkw;w  (rkepiy) Gs;spapd; NghJ 

                TR = TC 

  2q2 + 4q   = 2q2 + 2q + 200,000 

           2q2 − 2q2 + 4q  - 2q= 200,000 

                                             2q= 200,000 

                                             q = 100,000 

,yhg el;lkw;w fzpak; (rkepiy Gs;spapy;) ® 100>000 myFfs;  
(03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 

TC =  nkhj;j fpuak; 

VC = khWk; fpuak; 

FC = epiyahd fpuak; 

mj;jpahak;  03 - tzpfj;Jf;fhd epjprhu; nraw;ghl;L mstPLfs; 
 



 

 

102/BMS 6 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 
 
 

(a) ∑ X =420,   ∑ Y =360,   ∑ XY = 27,354,   ∑ X2= 33,408,   n = 6 
 

 
 
 
 
 
 
 
 

b = 
n ∑ XY −  ∑ X .∑ Y

(n ∑ X2 −  (∑ X)2)
 

b = 
(6 X 27,354) –(420 X 360)

(6 X 33,408) −(4202)
 

b = 
164,124 – 151,200

200,448 −176,400
 

b =
12,924

24,048
 

b = 0.54 

a   = 𝑌̅ − 𝑏𝑋̅ 

a   =
360

6
− [0.5374 ×

420

6
] 

a    =    60 - 37.56 

a    =    22.38 

,opT tu;f;f njhlu;G NfhL MdJ 

Y= 𝑎 +  𝑏𝑥 

Y= 22.38 +0.54x                                                                                                                (07 Gs;spfs;) 

(b) Rfhjhu guhkupg ;G nryT &gh.75,000/-. 

 X f;F gjpyPlhf  = 75 

   Y = 22.38 + 0.54x 

   Y = 22.38 + 0.54×75   

Y = 62.88 

 ruhrupahf vjpu;ghu;f;fg;gl;l Mal;fhyk;  = 63 Mz;Lfs; 

      (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 
 
 
 
 
 
 

𝒙 𝒚 𝒙𝟐 𝒙𝒚 
38 42 1,444 1,596 
42 44 1,764 1,848 
60 52 3,600 3,120 
80 71 6,400 5,680 
90 75 8,100 6,750 

110 76 12,100 8,360 
420 360 33,408 27,354 

mj;jpahak;  05 - ,uz;L  mstPl;L khwpfis Xg;gpLjy; 
 



 

 

102/BMS 7 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 
 

 

(a)        ,ilak;  
        𝑛 =  40 

𝑛

2
= 20 ,  

L1=19.5,   Fc = 5,   fm = 15,    

,ila tFg;G  = 29.5 – 19.5 

                            = 10 

         Md = L +
( 

𝑛
2 − 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

Md = 19.5 +
(20 − 5 )

15
 × 10 

𝑴𝒅 = 𝟐𝟗. 𝟓 

khjjpw;fhd ,ila rk;gsk;  = &gh.29>500                                                (03 Gs;spfs;) 

(b) ,il 

 

,il       =  
∑𝑓𝑥

∑𝑓
=  

1360

40
= 34 

(03 Gs;spfs;) 

(c) epak tpyfy; =√
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2
 

 

epak tpyfy;  =     √
54,830

40
−  [

1,360

40
]

2
 

        =     √1,370.75 −  342 

                     =      √1,370.75 −  1,156 

   =   √214.75 

=14.65          

    

           (04 Gs;spfs;) 

(nkhj;jk;  10 Gs;spfs;) 

 

 

khj rk;gsk; 

(&gh.’000) 

eLg;Gs;sp  

x 
Copau; 

vz;zpf;if 𝒇𝒙 𝒇𝒙𝟐 

10 - 19 14.5 5 72.5 1,051.25 

20 - 29 24.5 15 367.5 9,003.75 

30 - 39 34.5 8 276 9,522 

40 - 49 44.5 4 178 7,921 

50 - 59 54.5 5 272.5 14,851.25 

60 - 69 64.5 3 193.5 12,480.75 

∑𝒇 = 40 ∑𝒇𝒙 =1,360 ∑𝒇𝒙2 = 54,830.00 

gFjp B KbT 

√
∑𝑓𝑥2

∑𝑓
  − 𝑥 

√
54,830

40
  − 342 

√1,370.75 − 1,156 

√214.75  

= 𝟏𝟒. 𝟔𝟓 

 

 

 

=  

 

= 

= 

 

= 

= 

 

my;yJ 

mj;jpahak;  04 - juT toq;fYk; tpsf;f mstPLk; 
 



 

 

102/BMS 8 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

  
 
tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

(A) 

 

 
  (a)  

Mz;L KjyPL A KjyPL B 
foptPl;L 
fhuzp  

(DF @10%) 

KjyPL A apd; 
,w;iw 
ngWkjp 

KjyPL B 
apd; ,w;iw 
ngWkjp 

0 (160,000) (130,000) 1 (160,000) (130,000) 

1 20,000 45,000 0.909 18,180 40,905 

2 50,000 65,000 0.826 41,300 53,690 

3 90,000 50,000 0.751 67,590 37,550 

    (32,930) 2,145 

 

 

 

 

KjyPL A apd; epfu ,w;iw ngWkjp =-32,930 

KjyPL B apd; epfu ,w;iw ngWkjp =   +2,145 
my;yJ 

KjyPL A 

𝑁𝑃𝑉 =
20,000

1.11
+

50,000

1.12
+

 90,000

1.13
− 160,000 

𝑁𝑃𝑉 = 127,122.46 – 160,000 

=  - 32,877.54 

KjyPL B  

𝑁𝑃𝑉 =
45,000

1.11
+

65,000

1.12
+

 50,000

1.13
− 130,000 

𝑁𝑃𝑉 = 132,193.84 – 130,000 

=  2,193.84 

(06 Gs;spfs;) 
(b)   KjyPL A apd; epfu ,w;iw ngWkjpahdJ vjpu;fzpakhfTk; kw;Wk; KjyPL B apd; epfu 

,w;iw ngWkjp Neu;fzpakhfTk; fhzg;gLfpd;wJ. 

      MfNt epWtdk; KjyPL B apy; KjyPL nra;tJ  ,yhgj;jpid jUk;. 

                                                               (02 Gs;spfs;) 

NPVA = PV-I 

          = -160,000 + 127,070 

NPV  = -32,930 

NPVB = PV-I 

          = -130,000 + 132,145 

NPV  = +2,145 

gFjp c 

 

 

 

 

 

mj;jpahak;  02 - tzpfj;jpw;fhd epjp fzpjk; 



 

 

102/BMS 9 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(B) 

 

 

                                                                 
 

 

 

 

 

(04 Gs;spfs;) 

(C) 

 

                                                                                                                           

(a) 

 
 
 
 
 
 
 
 

 

Ԑ – vy;yh kf;fspdJk; fzf;nfLg;G 

C – fzdp itj;jpUf;Fk; kf;fspd; vz;zpf;if 

S- jpwd;Ngrp itj;jpUf;Fk; kf;fspd; vz;zpf;if 

(03 Gs;spfs;) 

(b)  𝑃 (
𝑆

𝐶
) =

𝑃(𝑆∩𝐶)

𝑃𝐶
=

𝟏𝟕

𝟓𝟒
 

(02 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 

𝑿 𝑷(𝑿) 𝑿𝑷(𝒙) 

2 0.14 0.28 

3 0.13 0.39 

4 0.23 0.92 

5 0.24 1.20 

6 0.26 1.56 

 1.00 4.35 

𝐸[𝑋]  =  ∑ 𝑋 × 𝑃(𝑥)  =  𝟒. 𝟑𝟓 

 

37 17 33 

50 54 
87 𝜀 

S C 

mj;jpahak;  6 - epfo;jfTk; mjd; gpuNahfq;fSk; 

mj;jpahak;  6 - epfo;jfTk; mjd; gpuNahfq;fSk; 



 

 

102/BMS 10 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.0   1.35 

    -1 0          

0.3413 

(D) 
 

 

X :  fhu; Xd;wpid Rj;jpfupg;G nra;tjw;F vLf;Fk; fhy msT (kzpj;jpahyq;fs;) 

µ=1.35  σ =0.35 

 

   Z        =    
 (𝑋  −  µ)

𝜎
 

Z        =     
𝑥−1.35

0.35
 

 

 

       

       

Z        =   
1−1.35

0.35
 

Z        =  - 1.0 

epfo;jfT = (X < 1.0)  

= 0.5 – 0.3413 

=0.1587 or 15.87% 

 

NkNy fzpf;fg;gl;l epfo;jfT juTfspd; mbg;gilapy; fhu; Rj;jpfupg;G epWtdkhdJ XU 

kzpj;jpahyj;jpy;  rhjhuzkhf fhu; xd;wpid Rj;jpfupg;gjw;F  vLf;Fk; epfo;jfT 0.1587 or 

15.87% MFk;. 

(03 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;) 
 

 

 

 

x 

z 

gFjp C KbT 

mj;jpahak;  6 - epfo;jfTk; mjd; gpuNahfq;fSk; 
 



 

 

102/BMS 11 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

Notice:  
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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